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I dx/dt = u, du/dt
I dy/dt = v, dv/dt
DECLARE PICTURE axes

SET WINDOW -1.3,0.7,-1,1

DRAW axes

SET POINT STYLE 1

DEF f(x,y)=- x/SQR((x"2+y~2)"3)
DEF g(x,y)=- y/SQR((x"2+y~2)"3)

- x/SQR((x"2+y"2)"3)
- y/SQR((x"2+y"2)"3)

LET x=0.5

LET y=0

LET u=0

LET v=0.5

LET h=0.000001
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LET t=0
PLOT POINTS: x,y
DO WHILE t<=2
LET t=t+h
LET uu=u
LET vv=v
LET u=u+f(x,y)*h
LET v=v+g(x,y)*h
LET x=x+uuxh
LET y=y+vv*h
PLOT POINTS: x,y
LOQOP

END
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SET POINT COLOR 6
LET a=0.02
DO WHILE a<100
FOR t=0 TO 4000
PLOT POINTS: (0.5-a)/2+(at+0.5)/2*C0OS(2*PI*t/4000), SQR(a/2)*SIN(2*PI*t/4000)
NEXT t
LET a=(a+0.5)*1.04-0.5
LOQOP

SET POINT COLOR 1
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